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This is how we read the text: Those n12X%» which were prominent in
the 12w are called aR; those that were not prominent in the jow» are
called 779n.

OVERVIEW

The & m3 differentiates between an 2X and a 717710, by stating that an 28 was a 79897
72w in the 1Dwn. There are different NMIXD7°) as to the exact difference between an
2X and a 77710, This Mo offers us two MR, which explain the terms 77710 2K,
differently.
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And according to this reading of the text, the X7) is coming to exclude various

Maxo», which were not prominent and were in the Jow» -
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For these noxY» are M7=n and are not NM>X%» Man; as the Xn»02 states in P
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They (the 2%) picked up the boards (the 2w of the 1own) from the ground
unto the wagon; which refers to the m72n of 791577, and w22 in one upper

story. The nxon of 170107 and v are deemed M7, even though they took place in the
1Dwn. However, they were not mawn moxo»; therefore they are not considered Max.

' See 0" who interprets this to mean that even if it was in the 19wn it is still necessary for it to be X2°wn, in order
to be considered an ar. However, if it is a 72wn 7877, it is considered an 2R according to this X073, even if it was
not found in the 1own. The following X073 disagrees with this. See footnote # 7.

* The xn»92 there is giving examples of various N9x%» which are found in the 19wn.

? The ground is considered a 2277 M.

* The wagon is considered a Tm°7 mw?. Moving an object from a 7"1 to a *"71 is the 79X%» of 70137, which is
considered to be a 717210 of XX (moving an object from the 777 to the 1"7).

> The 77210 of W consists of passing an object from one *"77 to an adjacent *"717 (separated by a 1"77), when both
°"717 are on the same side of the 71"77. An example would be two porches of two adjacent detached houses, on the
same side of the street, which overhang the 71"717. The place underneath the space between the two porches is a 1"
as well. Passing an object from one porch to someone on the other porch is the 77910 of vw. In the 1own the M7y
(which were a ") to carry the 0°w7p were lined up in the direction of traffic of the 7"77. There was a slight space
between the front of the rear 723y and the rear of the front 723y. This space was part of the 2"70. The o>wnp were first
raised onto the rearmost wagon, and then passed on to the »% who was on the wagon directly in front of it; thereby
passing the object 2"77 777" ",
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Mmoo offers an alternate X073
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And others have the text read as follows; ‘those that were in the 12w and are

prominent are called 2X -
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Those that were not in the 32w» (and) [or®] are not prominent are called

77n’-
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And according to this X094 it is necessary to maintain that two criteria are
required to be considered an 2X, namely 19wn2 and 2°wn; however, if a 70871 is
N2swn and it was not in the 19wn»; or the reverse, it was in the 10w» but was not
X2°wn that 7oX77 is a 779N,

SUMMARY
According to the first X017, an 28 must be X2°wr; according to the second X07°3, an
aX must be X2°wr and also be found in the ]DW?:).S

THINKING IT OVER
1. According to the first X07°2 why did the X773 mention Dwn at all; seemingly
(according to the 0"n) it depends solely whether it is X2°wr or not?!”

2. Why is 723y 0°wp 19¥11 not considered a mwn 7axon?'°

% See X"wn.

! According to the first X073, however, we exclude only a 7387 which is not X2°wn (even if it was in the 10wn), but
we do not exclude a 72wn 789 (even if it was not in the 19wn). Therefore the first X073 excluded (only) 0157
w1 (which were in the jown but are not *2°wn), but it did not exclude a 723wn 79891 which was not in the jown. See
footnote # 1.

¥ See n"m1 who disagrees with the "7 and argues that according to the first X0 the 7989 had to be X2°wn (at
least) in the 10wn; while the second X07°3 maintains that it had to be X2°wrn in general (not only in the 1own). However
both nRD: agree that it had to be in the jown.

? See (R"wnnY) 2",

19 See mwn nbm.
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